AL D EIG

M & i

B XOBBICOWT, xDEIERI N X 5 IS 3 & 2B EEERD L T v,

O y=— %xz IConT

x DA —6 225 —3 £ THMT 5 & %

@B y= & x* Lo

x OflAS —6 225 3 FTHIINST 2L %

@ y=— %xz IConT

x OffD =220 4 LTHEIMT 2L %

@ B y= %xz I

x DIEAS 3 225 6 L ThEfNd % & %

® B y= %xz oW

x DED 0 225 4 T THINT 2 & %

© B y= %xz ICoWnT

x D23 0 225 6 TINS5 & &

DB y=— 2 x* 12oWT

x DES 4005 6 TTHIMT 2 & %

® B y=— %xz ICDWnT

x O3 0 225 6 TINS5 & &

O B y=— %xz IZDWT

x DIEDS 2 205 6 LTINS % & %

B y=2x* IcD W T

x DA 0225 2 £ TINS5 & &

/10




AL D EIG

LA

B XOBBICOWT, xDEIERI N X 5 IS 3 & 2B EEERD L T v,

O BB y=— %xz LD T
x DIED —6 225 -3 T THMNT 5 & &

x O¥EhEIE —3—(—6)=3
y DEfIEIZ —4—(—16)=12

12

3:4

LoT, ZlhoH&ix

@B y= & x* Lo
x DEA —6 55 3 TTHMT 2 & %
x OEINEIFE 3—(—6)=9

y DEEIE 2—8=—6

ro Zleoflar 2 = -5

(o)

@ BgL y= — %x 2T
x DfEDS =226 4 FTHINST 5 & %

x OEINEIF 4—(—2)=6
y DHMEIF —12—(-3)=—-9

EoT, Zfeolals 2 = -

@ B y= %xz I

x DIEAS 3 225 6 L ThEfNd % & %

x DEEfNEIZ 6—-3=3
y DHINEIZ 60—15=45

45

3=15

LoT, ZlboH&ix

® B y= %xz oW
x DEA 0205 4 FTHMT % & &

x ORI 4—-0=4
y DIEIIEIX 8-0=8

=2

X oT, oA %

© B y= %xz ICoWnT
x DEZ 0 2> 5 6 £ THINT % & %

x DHENMEIX6—-0=6
y DRI 4—0=4

ko<, ztofar + =%

@ B y=— %x Iz o
x DIEDS 4 205 6 LTHINT %5 & %

x DHEMEIX 6—-4=2
y D& X —45—(—20)=—25

=25 _ _2

LoT, ZfLoHlEiz 5 5

® B y=— %xz I OT
x DfEAS 0225 6 £ TR 2 L %

x OHIINE X 6—-0=6
y OHIINEIX —24—0=—24

L oT, ZlboE&ix —Tm:_4

O B y=— %xz IZDWT

x DIEDS 2 205 6 LTINS % & %
x DEHIEIZ 6—2=4
y OENEIZ —54—(—6)=—48

—48 _

1 —12

L oT, ZlboEl&ix

10 BEIE y=2x* I2 DWW T
x DIES 026 2 N3 e %

x OHINE X 2—-0=2
y DIEIEIZ 8—-0=8

ko, Zfeo#ier S =4

/10




